

GROWTH RATES OF WRONSKIANs GENERATED BY ITERATED ENTIRE FUNCTIONS ON THE BASIS OF THEIR MAXIMUM TERMS

SANJIB KUMAR DATTA¹, ARUP RATAN DAS²
AND SAMTEN TAMANG³

^{1&3}Department of Mathematics, University of Kalyani,
Kalyani, Nadia, Pin-741235, West Bengal, India.

email: sanjib_kr_datta@yahoo.co.in

samtentamang@yahoo.in

²Pathardanga Osmania High Madrasah
P.O.-Panchgram, Dist- Murshidabad, PIN-742184,
West Bengal, India.

email:arupratan2007@rediffmail.com

Abstract

In this paper we investigate the comparative growth properties of maximum terms of composite entire functions and wronskians generated by one of the factors.

AMS Subject Classification (2010): 30D35, 30D30.

Keywords and phrases : Entire function, maximum term, iteration, growth, order, lower order, p-th order, lower p-th order, wronskians.

1 Introduction, Definitions and Notations.

Let f be an entire function defined in the open complex plane \mathbb{C} . The maximum term $\mu(r, f)$ of $f = \sum_{n=0}^{\infty} a_n z^n$ on $|z| = r$ is defined by $\mu(r, f) = \max_{n \geq 0} (|a_n| r^n)$.

To start our paper we just recall the following definitions :

Definition 1 The order ρ_f and lower order λ_f of an entire function f are defined as

$$\rho_f = \limsup_{r \rightarrow \infty} \frac{\log^{[2]} M(r, f)}{\log r} \quad \text{and} \quad \lambda_f = \liminf_{r \rightarrow \infty} \frac{\log^{[2]} M(r, f)}{\log r},$$

where $\log^{[k]} x = \log(\log^{[k-1]} x)$ for $k = 1, 2, 3, \dots$ and $\log^{[0]} x = x$.

Definition 2 The p -th order ρ_f^p and lower p -th order λ_f^p of an entire function f are defined as

$$\rho_f^p = \limsup_{r \rightarrow \infty} \frac{\log^{[p+1]} M(r, f)}{\log r} \quad \text{and} \quad \lambda_f^p = \liminf_{r \rightarrow \infty} \frac{\log^{[p+1]} M(r, f)}{\log r}.$$

Definition 3 The p -th type σ_f^p of an entire function f is defined as

$$\sigma_f^p = \limsup_{r \rightarrow \infty} \frac{\log^{[p-1]} M(r, f)}{r^{\rho_f^p}}, \quad 0 < \rho_f^p < \infty.$$

Since for $0 \leq r < R$, $\mu(r, f) \leq M(r, f) \leq \frac{R}{R-r} \mu(R, f)$ {cf.[7]} it is easy to see that

$$\rho_f^p = \limsup_{r \rightarrow \infty} \frac{\log^{[p+1]} \mu(r, f)}{\log r} \quad \text{and} \quad \lambda_f^p = \liminf_{r \rightarrow \infty} \frac{\log^{[p+1]} \mu(r, f)}{\log r}.$$

In 1997 Lahiri and Banerjee [3] showed that how iteration can be made for any two entire functions f and g . According to them [3] the iteration of f with respect to g is defined as follows :

$$\begin{aligned} f_1(z) &= f(z) \\ f_2(z) &= f(g(z)) = f(g_1(z)) \\ f_3(z) &= f(g(f(z))) = f(g_2(z)) = f(g(f_1(z))) \\ &\dots\dots\dots \\ f_n(z) &= f(g(f(\dots(f(z) \text{ or } g(z))\dots\dots\dots))), \text{ according as } n \text{ is odd or even,} \end{aligned}$$

and the iteration of g with respect to f is as follows :

$$\begin{aligned} g_1(z) &= g(z) \\ g_2(z) &= g(f(z)) = g(f_1(z)) \\ g_3(z) &= g(f(g(z))) = g(f_2(z)) = g(f(g_1(z))) \\ &\dots\dots\dots \\ g_n(z) &= g(f(g(\dots(g(z) \text{ or } f(z))\dots\dots\dots))), \text{ according as } n \text{ is odd or even.} \end{aligned}$$

Definition 4 Let a_1, a_2, \dots, a_k be linearly independent entire functions and small with respect to f . We denote by $L(f) = W(a_1, a_2, \dots, a_k, f)$ the wronskian determinant of a_1, a_2, \dots, a_k, f i.e.,

$$L(f) = \begin{vmatrix} a_1 & a_2 & \dots & \dots & a_k & f \\ a_1' & a_2' & \dots & \dots & a_k' & f' \\ \dots & \dots & \dots & \dots & \dots & \dots \\ \dots & \dots & \dots & \dots & \dots & \dots \\ a_1^{(k)} & a_2^{(k)} & \dots & \dots & a_k^{(k)} & f^{(k)} \end{vmatrix}.$$

Definition 5 Let ' a ' be a complex number, finite or infinite. The Nevanlinna deficiency and Valiron deficiency of ' a ' with respect to an entire function f are defined as

$$\delta(a; f) = 1 - \limsup_{r \rightarrow \infty} \frac{N(r, a; f)}{T(r, f)} = \liminf_{r \rightarrow \infty} \frac{m(r, a; f)}{T(r, f)}$$

and

$$\Delta(a; f) = 1 - \liminf_{r \rightarrow \infty} \frac{N(r, a; f)}{T(r, f)} = \limsup_{r \rightarrow \infty} \frac{m(r, a; f)}{T(r, f)}.$$

From the second fundamental theorem it follows that the set of values of $a \in \mathbb{C} \cup \{\infty\}$ for which $\delta(a; f) > 0$ is countable and $\sum_{a \neq \infty} \delta(a; f) + \delta(\infty; f) \leq 2$ (cf. [[2], p.43]). If in particular, $\sum_{a \neq \infty} \delta(a; f) + \delta(\infty; f) = 2$, we say that f has the maximum deficiency sum.

In the paper we would like to establish some new results based on the comparative growth properties related to the iteration of maximum terms of

composite entire functions and wronskians generated by one of the factors. We do not explain the standard notations and definitions in the theory of entire functions as those are available in [8].

2 Lemmas.

In this section we present some lemmas which will be needed in the sequel.

Lemma 1 ([1]) *Let f and g be two entire functions. Then for all sufficiently large values of r ,*

$$M\left(\frac{1}{8}M\left(\frac{r}{2}, g\right) - |g(0)|, f\right) \leq M(r, f \circ g) \leq M(M(r, g), f).$$

Lemma 2 ([2]) *Let f be an entire function and $0 \leq r < R < \infty$. Then*

$$T(r, f) \leq \log^+ M(r, f) \leq \frac{R+r}{R-r} T(R, f).$$

Lemma 3 ([6]) *Let f and g be two entire functions. Then for all $r > 0$,*

$$T(r, f \circ g) \geq \frac{1}{3} \log M\left\{\frac{1}{8}M\left(\frac{r}{4}, g\right) + o(1), f\right\}.$$

Lemma 4 ([4]) *Let f be a transcendental entire function having the maximum deficiency sum. Then*

$$\lim_{r \rightarrow \infty} \frac{T(r, L(f))}{T(r, f)} = 1 + k - k\delta(\infty; f).$$

Lemma 5 *Let f be a transcendental entire function with the maximum deficiency sum, then the p -th order and lower p -th order of $L(f)$ are same.*

Proof. By Lemma 4, $\lim_{r \rightarrow \infty} \frac{\log^{[p]} T(r, L(f))}{\log^{[p]} T(r, f)}$ exists and is equal to 1.

So

$$\begin{aligned} \rho_{L(f)}^p &= \limsup_{r \rightarrow \infty} \frac{\log^{[p]} T(r, f)}{\log r} \cdot \lim_{r \rightarrow \infty} \frac{\log^{[p]} T(r, L(f))}{\log^{[p]} T(r, f)} \\ &= \rho_f^p \cdot 1 = \rho_f^p. \end{aligned}$$

In a similar manner, $\lambda_{L(f)}^p = \lambda_f^p$. ■

Lemma 6 *Let f and g be two entire functions both with non zero finite p -th order. Then for all sufficiently large values of r ,*

$$\log^{[(n-1)p+1]} \mu(r, f_n) \leq \begin{cases} (\rho_f^p + \epsilon) \log M(r, g) + O(1) & \text{when } n \text{ is even} \\ (\rho_g^p + \epsilon) \log M(r, f) + O(1) & \text{when } n \text{ is odd.} \end{cases}$$

Proof. First let us consider n be even. Now in view of the second part of Lemma 1 and the inequality $\mu(r, f) \leq M(r, f)$ we obtain for all sufficiently large values of r ,

$$\begin{aligned} \mu(r, f_n) &\leq M(r, f_n) \leq M(M(r, g_{n-1}), f) \\ \text{i.e., } \log^{[p+1]} \mu(r, f_n) &\leq \log^{[p+1]} M(M(r, g_{n-1}), f) \\ &\leq (\rho_f^p + \epsilon) \log M(r, g_{n-1}). \end{aligned}$$

On calculation one can easily verify that for all sufficiently large values of r ,

$$\log^{[(n-1)p+1]} \mu(r, f_n) \leq (\rho_f^p + \epsilon) \log M(r, g) + O(1).$$

Similarly it can be easily shown that for odd n

$$\log^{[(n-1)p+1]} \mu(r, f_n) \leq (\rho_g^p + \epsilon) \log M(r, f) + O(1).$$

This proves the lemma. ■

Lemma 7 *Let f and g be two entire functions both with non zero finite p -th order. Then for a sequence of values of r tending to infinity,*

$$\log^{[(n-1)p+1]} \mu(r, f_n) \leq \begin{cases} (\lambda_f^p + \epsilon) \log M(r, g) + O(1) & \text{when } n \text{ is even} \\ (\lambda_g^p + \epsilon) \log M(r, f) + O(1) & \text{when } n \text{ is odd.} \end{cases}$$

The proof of Lemma 7 is omitted because it can be carried out in the line of Lemma 6.

Lemma 8 *Let f and g be two entire functions with non zero finite lower p -th order λ_f^p and λ_g^p respectively. Then for all sufficiently large values of r ,*

$$\log^{[(n-1)p+1]} \mu(r, f_n) \geq \begin{cases} (\lambda_f^p - \epsilon) \log M(\frac{r}{2^n}, g) + O(1) & \text{when } n \text{ is even} \\ (\lambda_g^p - \epsilon) \log M(\frac{r}{2^n}, f) + O(1) & \text{when } n \text{ is odd.} \end{cases}$$

Proof. Putting $R = 2r$ in the inequality

$$\mu(r, f) \leq M(r, f) \leq \frac{R}{R-r} \mu(R, f) \{cf.[7]\}$$

we get that

$$\mu(r, f) \leq M(r, f) \leq 2\mu(2r, f). \quad (1)$$

Now we consider the case when n is even. Then using the second part of Lemma 1 and the second part of the inequality (1) we get for all sufficiently large values of r ,

$$\begin{aligned} \mu(r, f_n) &\geq \frac{1}{2} M\left(\frac{r}{2}, f_n\right) \\ &= \frac{1}{2} M\left(\frac{r}{2}, f(g_{n-1})\right) \\ &\geq \frac{1}{2} M\left(\frac{1}{32} M\left(\frac{r}{4}, g_{n-1}\right), f\right) \\ i.e., \log^{[p+1]} \mu(r, f_n) &\geq (\lambda_f^p - \epsilon) \log M\left(\frac{r}{2^2}, g_{n-1}\right) + O(1) \\ i.e., \log^{[p+2]} \mu(r, f_n) &\geq \log^{[2]} M\left(\frac{r}{2^2}, g_{n-1}\right) + O(1) \\ &\geq \log^{[2]} M\left(\frac{1}{16} M\left(\frac{r}{2^3}, f_{n-2}\right), g\right) + O(1). \end{aligned}$$

Finally on calculation we obtain that

$$\log^{[(n-1)p+1]} \mu(r, f_n) \geq (\lambda_f^p - \epsilon) \log M\left(\frac{r}{2^n}, g\right) + O(1).$$

Similarly for odd n it follows for all sufficiently large values of r ,

$$\log^{[(n-1)p+1]} \mu(r, f_n) \geq (\lambda_g^p - \epsilon) \log M\left(\frac{r}{2^n}, f\right) + O(1).$$

This proves the lemma. ■

Lemma 9 Let f and g be two entire functions with non zero finite p -th order ρ_f^p and ρ_g^p respectively. Then for a sequence of values of r tending to infinity,

$$\log^{[(n-1)p+1]} \mu(r, f_n) \geq \begin{cases} (\rho_f^p - \epsilon) \log M\left(\frac{r}{2^n}, g\right) + O(1) & \text{when } n \text{ is even} \\ (\rho_g^p - \epsilon) \log M\left(\frac{r}{2^n}, f\right) + O(1) & \text{when } n \text{ is odd.} \end{cases}$$

The proof of Lemma 9 is omitted because it can be carried out in the line of Lemma 8.

Lemma 10 ([5]) *Let f be an entire function of finite lower order. If there exists entire functions a_i ($i = 1, 2, \dots, n$; $n \leq \infty$) satisfying $T(r, a_i) = o\{T(r, f)\}$ and $\sum_{i=1}^n \delta(a_i; f) = 1$, then $\lim_{r \rightarrow \infty} \frac{T(r, f)}{\log M(r, f)} = \frac{1}{\pi}$.*

3 Theorems.

In this section we present the main results of the paper.

Theorem 1 *Let f and g be two entire functions with (i) $0 < \lambda_f^p < \rho_f^p < \infty$, (ii) $0 < \lambda_g^p < \rho_g^p < \infty$, (iii) $0 < \rho_g^p < \lambda_f^p < \infty$, (iv) $0 < \sigma_g^p < \infty$ and (v) $\sum_{a \neq \infty} \delta(a; f) + \delta(\infty; f) = 2$. Then*

$$\limsup_{r \rightarrow \infty} \frac{\log^{[(n-1)p+1]} \mu(r, f_n)}{\log^{[p]} \mu(r, L(f))} = 0$$

when n is even and $p \geq 1$.

Proof. Let us consider n to be even, then from Lemma 6 and the inequality (1) we obtain for all sufficiently large values of r

$$\begin{aligned} \log^{[(n-1)p+1]} \mu(r, f_n) &\leq (\rho_f^p + \epsilon) \log M(r, g) + O(1) \\ &\leq (\rho_f^p + \epsilon) \log \mu(2r, g) + O(1) \\ &\leq (\rho_f^p + \epsilon)(\sigma_g^p + \epsilon)(2r)^{(\rho_g^p + \epsilon)} + O(1). \end{aligned} \quad (2)$$

Now it is well known that for an entire function f , $T(r, f) \leq \log^+ M(r, f)$. So in view of inequality (1) and by Lemma 5 we get for all sufficiently large values of r

$$\begin{aligned} \log^{[p]} T\left(\frac{r}{2}, L(f)\right) &\leq \log^{[p+1]} \mu(r, L(f)) + O(1) \\ \text{i.e., } \log^{[p+1]} \mu(r, L(f)) &\geq (\lambda_{L(f)}^p - \epsilon) \log\left(\frac{r}{2}\right) + O(1) \\ \text{i.e., } \log^{[p]} \mu(r, L(f)) &\geq r^{(\lambda_f^p - \epsilon)} + O(1). \end{aligned} \quad (3)$$

Now from (2) and (3) we obtain for all sufficiently large values of r

$$\frac{\log^{[(n-1)p+1]} \mu(r, f_n)}{\log^{[p]} \mu(r, L(f))} \leq \frac{(\rho_f^p + \epsilon)(\sigma_g^p + \epsilon)(2r)^{(\rho_g^p + \epsilon)} + O(1)}{r^{(\lambda_f^p - \epsilon)} + O(1)}.$$

Since $\rho_g^p < \lambda_f^p$, we can choose $\epsilon(> 0)$ in such a way that $(\rho_g^p + \epsilon) < (\lambda_f^p - \epsilon)$ and it follows from above that

$$\limsup_{r \rightarrow \infty} \frac{\log^{[(n-1)p+1]} \mu(r, f_n)}{\log^{[p]} \mu(r, L(f))} = 0.$$

This proves the theorem. ■

Remark 1 The condition $\rho_g^p < \lambda_f^p$ in Theorem 1 is essential as we see in the following example.

Example 1 Let $f = \exp^{[p]} z$ and $g = \exp^{[p]}(z^2)$.

Then $\lambda_f^p = \rho_f^p = 1$ and $\rho_g^p = \lambda_g^p = 2$ and $\sum_{a \neq \infty} \delta(a; f) + \delta(\infty; f) = 2$.

Also $f_n = \exp^{[2n-2]p} z^2$ when n is even.

Taking $a_1 = \frac{1}{p} (p \geq 1)$, $a_2 = \dots = a_k = 0$ in Definition 7 we get that

$$L(f) = \begin{vmatrix} a_1 & f \\ a'_1 & f' \end{vmatrix} = \begin{vmatrix} \frac{1}{p} & \exp^{[p]} z \\ 0 & p \exp^{[p]} z \end{vmatrix} = \exp^{[p]} z = f.$$

In view of the inequality $\mu(r, f) \leq M(r, f) \leq 2\mu(2r, f)$ we obtain that

$$\limsup_{r \rightarrow \infty} \frac{\log^{[(n-1)p+1]} \mu(r, f_n)}{\log^{[p]} \mu(r, L(f))} \leq \limsup_{r \rightarrow \infty} \frac{\log^{[(n-1)p+1]} M(r, f_n)}{\log^{[p]} M\{\frac{1}{2}(\frac{r}{2}, L(f))\}}.$$

When n is even then

$$\log^{[(n-1)p+1]} M(r, f_n) = \log^{[(n-1)p+1]} M(r, \exp^{[2n-2]p} z^2) = \exp^{[np-p-1]} r^2.$$

Also

$$\log^{[p]} M\{\frac{1}{2}(\frac{r}{2}, L(f))\} = \log^{[p]} M(\frac{r}{2}, \exp^{[p]} z) + O(1) = \frac{r}{2} + O(1).$$

So

$$\limsup_{r \rightarrow \infty} \frac{\log^{[(n-1)p+1]} \mu(r, f_n)}{\log^{[p]} \mu(r, L(f))} = \limsup_{r \rightarrow \infty} \frac{\exp^{[np-p-1]} r^2}{\frac{r}{2} + O(1)} = \infty,$$

which is contrary to Theorem 1.

In the line of Theorem 1 we may state the following theorem without proof.

Theorem 2 Let f and g be two entire functions with (i) $0 < \lambda_f^p < \rho_f^p < \infty$, (ii) $0 < \lambda_g^p < \rho_g^p < \infty$, (iii) $0 < \rho_f^p < \lambda_g^p < \infty$, (iv) $0 < \sigma_f^p < \infty$ and (v) $\sum_{a \neq \infty} \delta(a; f) + \delta(\infty; f) = 2$. Then

$$\limsup_{r \rightarrow \infty} \frac{\log^{[(n-1)p+1]} \mu(r, f_n)}{\log^{[p]} \mu(r, L(g))} = 0$$

when n is odd and $p \geq 1$.

Theorem 3 Let f and g be two entire functions with (i) $0 < \lambda_f^p < \rho_f^p < \infty$, (ii) $0 < \lambda_g^p < \rho_g^p < \infty$, (iii) $0 < \sigma_g^p < \infty$ and (iv) $\sum_{a \neq \infty} \delta(a; g) + \delta(\infty; g) = 2$.

Then

$$\liminf_{r \rightarrow \infty} \frac{\log^{[(n-1)p+1]} \mu(r, f_n)}{\log^{[p]} \mu(r, L(g))} \leq 2^{\rho_g^p} \cdot \rho_f^p \cdot \sigma_g^p$$

when n is even and $p \geq 1$.

Proof. Let us consider n to be even, then from Lemma 6 and the inequality (1) we obtain for all sufficiently large values of r

$$\begin{aligned} \log^{[(n-1)p+1]} \mu(r, f_n) &\leq (\rho_f^p + \epsilon) \log M(r, g) + O(1) \\ &\leq (\rho_f^p + \epsilon) \log \mu(2r, g) + O(1) \\ &\leq (\rho_f^p + \epsilon)(\sigma_g^p + \epsilon)(2r)^{(\rho_g^p + \epsilon)} + O(1). \end{aligned} \quad (4)$$

Now it is well known that for an entire function f , $T(r, f) \leq \log^+ M(r, f)$. So in view of inequality (1) and by Lemma 5 we get for a sequence of values of r tending to infinity

$$\begin{aligned} \log^{[p]} T\left(\frac{r}{2}, L(g)\right) &\leq \log^{[p+1]} \mu(r, L(g)) + O(1) \\ i.e., \quad \log^{[p+1]} \mu(r, L(g)) &\geq (\rho_{L(g)}^p - \epsilon) \log\left(\frac{r}{2}\right) + O(1) \\ i.e., \quad \log^{[p]} \mu(r, L(g)) &\geq r^{(\rho_g^p - \epsilon)} + O(1). \end{aligned} \quad (5)$$

Now from (4) and (5) we obtain for a sequence of values of r

$$\frac{\log^{[(n-1)p+1]} \mu(r, f_n)}{\log^{[p]} \mu(r, L(g))} \leq \frac{(\rho_f^p + \epsilon)(\sigma_g^p + \epsilon)(2r)^{(\rho_g^p + \epsilon)} + O(1)}{r^{(\rho_g^p - \epsilon)} + O(1)}.$$

Since $\epsilon(> 0)$ is arbitrary it follows from above that

$$\liminf_{r \rightarrow \infty} \frac{\log^{[(n-1)p+1]} \mu(r, f_n)}{\log^{[p]} \mu(r, L(g))} \leq 2^{\rho_g^p} \cdot \rho_f^p \cdot \sigma_g^p.$$

This proves the theorem. ■

In the line of Theorem 3 we may state the following theorem without proof.

Theorem 4 Let f and g be two entire functions with (i) $0 < \lambda_f^p < \rho_f^p < \infty$, (ii) $0 < \lambda_g^p < \rho_g^p < \infty$, (iii) $0 < \sigma_f^p < \infty$ and (iv) $\sum_{a \neq \infty} \delta(a; g) + \delta(\infty; g) = 2$.

Then

$$\liminf_{r \rightarrow \infty} \frac{\log^{[(n-1)p+1]} \mu(r, f_n)}{\log^{[p]} \mu(r, L(f))} \leq 2^{\rho_f^p} \cdot \rho_g^p \cdot \sigma_f^p$$

when n is odd and $p \geq 1$.

Theorem 5 Let f and g be two entire functions with (i) $0 < \lambda_f^p < \rho_f^p < \infty$, (ii) $0 < \lambda_g^p < \rho_g^p < \infty$, (iii) $0 < \sigma_g^p < \infty$ and (iv) $\sum_{a \neq \infty} \delta(a; f) + \delta(\infty; f) = 2$.

Also let there exist entire functions $b_i (i = 1, 2, \dots, n; n \leq \infty)$ with $T(r, b_i) = o\{T(r, g)\}$ as $r \rightarrow \infty$ for $i = 1, 2, \dots, n$ and $\sum_{i=1}^n \delta(b_i; g) = 1$. Then

$$\limsup_{r \rightarrow \infty} \frac{\log^{[(n-1)p+1]} \mu(r, f_n)}{\log^{[p]} \mu(r, L(f))T(r, L(g))} = 0$$

when n is even and $p \geq 1$.

Proof. Let us consider n to be even, then from Lemma 6 and the inequality (1) we obtain for all sufficiently large values of r

$$\log^{[(n-1)p+1]} \mu(r, f_n) \leq (\rho_f^p + \epsilon) \log M(r, g) + O(1). \quad (6)$$

Now it is well known that for an entire function f , $T(r, f) \leq \log^+ M(r, f)$. So in view of inequality (1) and by Lemma 5 we get for all sufficiently large values of r

$$\begin{aligned} \log^{[p]} T\left(\frac{r}{2}, L(f)\right) &\leq \log^{[p+1]} \mu(r, L(f)) + O(1) \\ i.e., \quad \log^{[p+1]} \mu(r, L(f)) &\geq (\lambda_{L(f)}^p - \epsilon) \log\left(\frac{r}{2}\right) + O(1) \\ i.e., \quad \log^{[p]} \mu(r, L(f)) &\geq r^{(\lambda_f^p - \epsilon)} + O(1). \end{aligned} \quad (7)$$

Now from (6) and (7) we obtain for all sufficiently large values of r

$$\begin{aligned} \frac{\log^{[(n-1)p+1]} \mu(r, f_n)}{\log^{[p]} \mu(r, L(f)) T(r, L(g))} &\leq \frac{(\rho_f^p + \epsilon) \log M(r, g) + O(1)}{[r^{(\lambda_f^p - \epsilon)} + O(1)] T(r, L(g))} \\ &\leq \frac{(\rho_f^p + \epsilon)}{[r^{(\lambda_f^p - \epsilon)} + O(1)]} \cdot \frac{\log M(r, g)}{T(r, g)} \cdot \frac{T(r, g)}{T(r, L(g))}. \end{aligned}$$

Since $\epsilon(> 0)$ is arbitrary and by using Lemma 4 and Lemma 10 we get that

$$\begin{aligned} \limsup_{r \rightarrow \infty} \frac{\log^{[(n-1)p+1]} \mu(r, f_n)}{\log^{[p]} \mu(r, L(f)) T(r, L(g))} &\leq \limsup_{r \rightarrow \infty} \frac{\rho_f^p}{[r^{\lambda_f^p} + O(1)]} \cdot \lim_{r \rightarrow \infty} \frac{\log M(r, g)}{T(r, g)} \cdot \lim_{r \rightarrow \infty} \frac{T(r, g)}{T(r, L(g))} \\ &\leq 0 \cdot \pi \cdot \frac{1}{1 + k - k\delta(\infty; f)} = 0. \end{aligned}$$

This proves the theorem. ■

In the line of Theorem 5 we may state the following theorem without proof.

Theorem 6 Let f and g be two entire functions with (i) $0 < \lambda_f^p < \rho_f^p < \infty$, (ii) $0 < \lambda_g^p < \rho_g^p < \infty$, (iii) $0 < \sigma_g^p < \infty$ and (iv) $\sum_{a \neq \infty} \delta(a; f) + \delta(\infty; f) = 2$.

Also let there exist entire functions $b_i (i = 1, 2, \dots, n; n \leq \infty)$ with $T(r, b_i) = o\{T(r, g)\}$ as $r \rightarrow \infty$ for $i = 1, 2, \dots, n$ and $\sum_{i=1}^n \delta(b_i; g) = 1$. Then

$$\limsup_{r \rightarrow \infty} \frac{\log^{[(n-1)p+1]} \mu(r, f_n)}{\log^{[p]} \mu(r, L(g)) T(r, L(f))} = 0$$

when n is odd and $p \geq 1$.

References

- [1] Clunie, J. : The composition of entire and meromorphic functions, Mathematical essays dedicated to A.J. Macintyre, Ohio University Press, 1970, pp.75 – 92.
- [2] Hayman, W.K.: Meromorphic Functions, The Clarendon Press, Oxford, 1964.
- [3] Lahiri, B.K. and Banerjee, D. : Relative fix points of entire functions, J. Indian Acad. Math., Vol.19, No.1 (1997), pp. 87 – 97.
- [4] Lahiri, I. and Banerjee, A. : Value distribution of a wronskian, Portugaliae Mathematica, Vol.61, Fasc 2(2004) Nova Se'rie, pp.161 – 175.
- [5] Q., Lin and C., Dai : On a conjecture of Shah concerning small functions, Kexue Tong bao (English Ed.) Vol.31, No. 4(1986), pp. 220 – 224.
- [6] Niino, K. and Yang, C.C. : *Some growth relationships on factors of the two composite entire functions*, Factorization theory of meromorphic functions and related topics, Marcel Dekker, Inc.(New York and Basel), (1982) , pp. 95 – 99.
- [7] Singh, A.P and Baloria, M.S. : On maximum modulus and maximum term of composition of entire functions, Indian J. Pure Appl. Math., Vol.22, No.12(1991), pp. 1019 – 1026.
- [8] Valiron, G. : Lectures on the General Theory of Integral Functions, Chelsea Publishing Company, 1949.